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1. 18 + 54 = 80 - 16 + 27 =

90 - 53 = 80 - 16 — 27 =

72 - (19 + 27)= 43 - (56 — 27) =
2. 3Hangu NnpukKasky.
(LUK) 91 — 54 = (HE) 80 - (36 + 17) =
(ELU) 43 + 29 = (OKEH) 80 — (36
(300) 94 - (13 + 59) = (3AWM) 56 — (34 — 16) =
BOJIOM | 38 | 37 27 22161|72 ;ffL
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1.

NMopiBHAHHS BUpa3is

-17) =

He npoBoas4u 004UCNEHb, NOPIBHAN BUpa3n.

1)38[]38+2 2)66+19[]66 3 72-7 [J72-8
61[]e1-2  82-19[]82  46+8[]46+9
4)87 - 28[ ]88 - 28 5) 84 - 26[ ]84 + 26
55 +27[]56 + 27 71-17[]73-19
2.1) 48[ ]71-23 2)e65+28[ ]85

52[ 192 - 43 38 +57[_]96

39[]80- 39 56 - 18] 39

48[ ]57-9 45 +22[]66
3) 39+24[ |45-18

94 - 57[ ]88 - 39

57 +19[_]57 + 18

85-27[ ]85+ 27
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